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GROUP - B

2. Answer any eight of the following within two or three sentences
[17% x

each.

(@) Find out secondary va_lency of Crin K[Cr(NH,),(C,0,),].

(b) Give one example of Chelatlng agent

’ [ ‘f, [ o

(c) Define Crystal ﬂeld stablllsatlon energy
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(b) CoCl,5NH, when dissolved in water, two chloride ions are
precipitated. lts molar conductivity corresponds to 3. What is

the formula of co-ordination compound ? Write its IUPAC
name. |

(c) Calculate crystal field stablhsatlon energy for d° high spin
octahedral

'Anhydrous Copper Sulphate is colourless but hydrated Cop-
- per Sulphate is blue in colour. Explain.

Discuss Labile and Inert Complex.
i Wnte down ,g'iﬁeren'ces offprimary and secondary valency.

: What happens when Sod|um oxalate is added to warm solu-
.On'_‘of-.."\'_aCldlﬂed potassuum permanganate solution ? Write

show only 2( ) fdkid\at[ipn‘ state ?
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lin the blanks as required. ~ [1x 8

with nitrous acid forms :

HZSO4 gives

A
4
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GROUP - B

2. Answer any eight of the followmg within two or three sentences
each. VR [1% % 8

1
\ 1 J: U _.JV_

(a) What is Carbylamlne reactlon ’P ‘

How can you ¢

aroup ?
group 7
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GROUP - C

3. Answer any eight of the following within 75 words each.  [2 % 8

(a) Aniline is a weaker base than cyclohexyl amine. Explain.

(b) Explain Hoffmann’s exhaustive methylation of amine.

i
'y
i A

: (c) How can you prepare benzonc acud from B.D. C ?

" e ‘»,./ i : sisiah ]
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; ed between 5 7 during the preparation of
_'onl‘um" chlorlde wnth anlllne ?
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(i) How can you prove the presence of pyridine moeity in Nico-
| tine ?

| () Write the structural formula of two geometrical isomers of

citral and give their names.

GROUP - D

4. Answer any four question_s within 500 words each.

(@) How can you dlStIﬂQUISh between 1°, 2° and 3° amines with

Hinsberg reagent ? ' [6

(b) How can you prepare ethylamine using : 2% 3

(i) Curtius degradation method
(i) Gabriel phthalimide synthesis
(iii) Mannich reactidn' e S [6

(c) How canyou prepare the followmg compounds starting from
Benzene Diazonium Chlonde (A [2 x 3

(i) lodobenzene
(ii) Nitrobenzene

(i) Phenyl acetate

APVN-KNJ-Sem-IV-23-Chem(CC-9)/45
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(d) Elucidate the structure of Napthalene. [6
(e) Elucidate the structure of Citral. [6
[2%x3

(f) Bring out the following conversions :

(i) Phenol to Aminocyclohexane
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GROUP -A

1. Fillin the blanks. (all) [1x8

(a) The relation between specific conductance (K) and equiva-
lent conductance () of an electrolyte is

3 ?\__’_)

(b) Transport number of CH,COO™ ions is than that
of C,H.COO™ ions.

(c) Which among the following is the strongest reducing agent
Zn(s), Cr(s), H,(g) and Fe?" (aq) ?

(d) According to Debye Huckel theory, the speed of anionis an
electric field is

(e) The mass of substance deposited by passage of 1 coulomb
of charge is called

(f) InaGalvanic cell, the anode is made up of metal.

RT.O,




[2]

(@) Ameasure of the electric intensity due to presence of ions in
the solutmn& |s called Gl

type of so-

or three sentences
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[3]
What is Lorenz-Laurentz equation ?
State Liquid Junction potential.

GROUP - C

Answer any eight of the following within 75 words each.  [2 x 8

(a)

(b)

(d)

(e)

(f)
(9)

(h)

The increase in magnitude of equivalent conductance on di-
lution is more for weak electrolytes than for strong electro-
lytes. Explain.

What is Debye Huckel theory for strong electrolytes ?
Show that the transport numbers of cation and anion is unity.

Derive a relation between ionic conductance and transport
number. ‘

Define ionic mobility and ionic conductance. How are they
related ?

Differentiate between cell potential and potential difference ?
What is a reversible electrode ? Give an example.

Derive a relationship between free energy and electrical en-
ergy.

RT.Q.




ligr)

() Whatis Clausius-Mosotti equation used for 2

]

() Give a method of measuring dipolemoment

"?_O' z from the followmg data :
[2+4
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GROUP -A

1. Fillin the blanks. (all) [1 %8

(a) Atstandard state, the values of bressure and temperature is

(b) The relation between Ko and K. of the equation
2NH,(g = N, +3H,9)Is

(c) lonic product of water is to temperature.

(d) For precipitation to take place, solubility product must be
than ionic product.

(e) Inthe reaction:

O,H

. e @ IdentifyA. A

(f) The electrophile used in nitration of benzene is ' ; ’

P.T.O.



()

(h)

[2]

’WHat s the product formed when benzene diazonium chlo-

ride is treated with cuprous chloride ?

t-butyl alcohol can be prepared by reacting methyl magne-
sium bromide with

GROUP - B

Answer any eight of the following within two or three sentences
each. [1%2 % 8

(a)
(b)
(c)
(d)

(e)
(f)

(9)
(h)

Define standard enthalpy of formation.

State bond dissociation energy. - ;:‘n

What'is Le-Chatelier’s principle ?
Name two factors affecting degree of ionisation.

Blue litmus paper turns red in copper sulphate solution. Ex-
plain.

Why dil. HCl is added first followed by passing H,S gas for
detection of Gr Il radicals in qualitative analysis ?

What is the role of Lewis acid in Friedel-Craft's alkylation ?

Between OH™ and OCH_Z, which is a better nucleophile and
why ? |

. APVN-KNJ-Sem-IV-23-Chem(GE-B,)/80
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(i) Like alkyl halide, why aryl halide does not undergo nucleo-
philic substitution reaction easily ?

() How can you convert phenol to salicylic acid ?

GROUP - C

Answer any eight of the following within 75 words each.  [2 x 8

(a) Calculate AH° for the reaction :
CH, (g) + 4F, (9) = CF, (g) *+ 4HF (9)

Given that the enthalpies of formation of CH, CF, and-HF
are =75 kJ, =680 kJ and —269 kJ respectively.

(b) Calculate AH of the reaction :
CH,Cl, (9 >C@ +2H @+ 2Cl (g).

Bond energies of C—H bond and C—Cl bond are 99.28 kCal
mol~! and 77.99 kCal mole™' respectively.

(c) What s the effect of temperature and pressure on the follow-
ing equilibrium : '

N, () —> 3H,(@ = 2NH, (g, AH = 22 9 kCal.

(d) What happens when HCI is passed through concentrated
solution of sodium chloride 7

(e) Calculate the pH of 0.0001 M NaOH.

P.T.O.
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e (f) Convert : Phenol to O Cresol
-fo“fg_,;q;;gg¢“,fxw o G, CH,

‘ I
(g) How can you prepare CH —(‘E—OCH from CH, —(|3—Br 2

o e,a mechamsm <f-or the reaction.
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(d) (i) Write anoteon electrophilic substitution reaction of ben-

Zene. [3

(i) State Williamson’s synthesis. Give its mechanism. [3

(e) Write short notes on : [3 %2

(i) Pinacol-Pinacolone rearrangement

(i) Oxidation of diols
(f) Complete the reaction giving a suitable mechanism :
HO

CN~
—

What happens when the product obtained is oxidised with
conc. HNO, 7 [2+2+2

(@) (i) What happens when chlorobenzene reacts with ammo-
nia in presence of potassium amide. [2

(i) By the help of a chemical reaction, distinguish between
propan-1-ol and propan-2-ol. [2

(iif) Give the reaction of acetaldehyde and propionaldehyde
with dil NaOH. [2
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